
��������ก�	
(�40206)

�
�������  �����
����

����������	ก��
���� 6

�
����

��� �!"�#$��
�ก%ก�
�	&�&�'���$(ก)
�ก

�
�������  �����
����

��� �!"�
Black body) ��� ��� �)��!�!ก$�3�$��3#4��5$(ก6��7�
)���กก
�)8���4�3)�9�54! 64�4�ก�
)�$�:��3#$�64�4�ก�
��)'�3
)"�;5'��� �!"���<3��� �;3��!4���=��ก�
#:�
�������4
'�3 

�
�������  �����
����www.geocities.com/chanoknan_banglieng 3

)"�;5'��� �!"���<3��� �;3��!4���=��ก�
#:�
�������4
'�3 
>"�3�3#$����4����$��3=��ก�
#:��$��3#4��5$(ก6��7�#�
:�3
�
�ก�8���5��4�

��� �!"����5��4�3'��ก��� 700 K (430 °C) ;5'ก�

#:�
����;3���3���4����$��3)��4���5(36!'3'��4�ก
 >E�)"�;5'4���5(3��<3��!"� �4������5��4��F��4=E934�กก���3�93 

�
�������  �����
����www.geocities.com/chanoknan_banglieng 4

 >E�)"�;5'4���5(3��<3��!"� �4������5��4��F��4=E934�กก���3�93 
>�4�ก�
#:�
����;3���3���4����$��3)��4���5(36!' �
��4>�ก 
#!� �'4 �5$��� =�� #$�6�>8)���7�



;3ก�
)!$�� ����)��;ก$'�����)����!ก�8ก�
#:�
����
=����� �!"� ��� ก�
#:�
����>�กก$���)���>��
��$(กG #��
)���='�6�;3
�>���)'�36�4�;3ก$���5$���
�9�ก��3)��
>���ก4�HE���54��3ก�8ก�
!�!H�8 64�������4���
�$��3#��)���='�6�>���<3��6
 (�
�8�)��)�����4���

�
�������  �����
����

�$��3#��)���='�6�>���<3��6
 (�
�8�)��)�����4���
�$��3��93ก���=3�!=��
�)  '��
�;5'���4
'�3ก�8ก$��� 
���ก�
�4>�����3����#$�64�=E93ก�8���!�)������;3ก$��� 
��4)IJK�)��F���>3	&!� ���
	����L (Kirchhoff) 
ก
��3�9=E93ก�8���5��4�=��ก$����)��3�93

�
�������  �����
����www.geocities.com/chanoknan_banglieng 6

   �
�ก%ก�
�	&�&����$(ก)
�ก#�!�6!'&!�;�'���ก
�	
!��
�� #:�3&$5� C #$� A ����;35$�!��RR�ก�S &!� 
C ����='�ก�8=�9�6��7�$8 #$� A ����='�ก�8=�9�6��7�8�ก 
&!��4���T��#�� !'�����4 �� HE����<3���4 ��)�����

�
�������  �����
����

&!��4���T��#�� !'�����4 �� HE����<3���4 ��)�����
F��54�� $�83#:�3&$5� C )"�;5'���$(ก�
�35$�!>�ก
#:�3&$5� C HE��>�F8����=(4=��#�44����
	�836� 
#�!����4�ก
�#�6��7��ก�!=E93

    

&!�=��)�����4����S�ก�	��"� G ก
�#�6��7�)���ก�!=E93
4����3'�� )"�;5'���$(ก�
�38�����4�F$����364�4�ก
F�)��>���$���3)�� E�#:�3 A �4����F��4���4����S�ก�	
ก
�#�6��7�4����4�ก=E93>3ก
�)���ก
�#���)�� )"�

�
�������  �����
����

ก
�#�6��7�4����4�ก=E93>3ก
�)���ก
�#���)�� )"�
;5'���$(ก�
�3)�ก���4�F$����34�กF�>E���4�
 
��$���3)��!'�����4�
(� E�#:�3 A #$� '�;�'���4�='4
#������ก�3>�F8���#��)��4����4�='44�ก>�;5'
ก
�#�6��7������!4����4�กก��� 



 ���>�ก3�93ก$�8=�9�6��7�#$��F��4���4����S�ก�	
>3ก
�)���ก
�#�6��7���<3S�3�	 )"�;5'���$(ก�
�3)��4�
���4�
(�4�ก)����!5
��F$����3>$3	�����!5��!3��� 
�
��ก���4����S�ก�	3�9��� ���4����S�ก�	5��!��9� 

�
�������  �����
����

�
��ก���4����S�ก�	3�9��� ���4����S�ก�	5��!��9� 
(Stopping Potential ) #)3!'�� VS !��3�93>�6!'
F$����3>$3	�����!=��&�&����$(ก�
�3 

E
Kmax

= = (4)

�
�������  �����
����

����	
 EKmax
��


������
��
���������������ก���
  	!
"#�
�$%
��� ( J )

 e ��

$�&��'(()���������ก���
 	*"���"�ก�+ 1.6 x 

10-19 *��� +� (C) 

 

�
�������  �����
����

 VS 
��
 *#� �"��/�ก��!�����0�  	!
"#��$%
�#��� (V)

 m ��
  #���������ก���
 	*"� 9.1x10-31 kg

 ��
 *#� ���#��������������ก���
 (m/s)


